WRX5S FH2FE

EE-B200010: i iEHEES)

1/3

(B )
Y= Heke | LEAEmEE L H R %8 HRES mE
B 8 Z Dk
E55|L4E 7,144,625 7,063,026 7,144,625 0 7,063,026
ES5(ER) ( 0) ( 0)
E554E 1,788,455 1,190,933 1,788,455 0 1,190,933
E5 (MikE) ( 0) ( 0)
E55|4% 1,742,999 2,033,248 1,742,999 2,033,248
E5 (EEt) ( 0) ( 0)
INEF () 10,676,079 1((),287,207) 10,676,079 ( o) 10,287,207
0 0
E55|L4E 1,000,606 989,177 1,000,606 989,177
EFENGER) ( 0) ( 0)
E55LE 250,472 166,790 250,472 166,790
AR (HIRE) ( 0) ( 0)
E55L4E 244,110 284,764 244,110 284,764
SEEER (EEE) ( 0) ( 0)
INEF GERAZE]) 1,495,188 2,440,731) 1,495,188 ( o) 1,440,731
0 0
RS 296,762,881 | 56,321,862 4,997,682 0| 348,087,061
( 0) ( 0)
st 308,934,148 | 68,049,800 | 17,168,949 0| 359,814,999
= ( 0) ( 0)
SRy SH2FE
EE-QA00011: REEE-TS5H)
(B )
®lBE Hyks | HHiEmngE LR HXREkS BE
B #){E A Z D1
E55 4% 296,073 301,253 296,073 0 301,253
ES5(ER) ( 0) ( 0)
E55|L4E 207,417 272,034 207,417 0 272,034
E5 (g ( 0) ( 0)
=4 503,490 573,287 503,490 0 573,287
INETH(EE) ( 0 ( 0
E55L4E 41,465 42,191 41,465 0 42,191
EFENQER) ( 0) ( 0)
E55L4E 29,049 38,099 29,049 0 38,099
EEERN (EE) ( 0) ( 0)
R = 70,514 80,290 70,514 0 80,290
INET GETERRF) ( 0 ( 0
ast 574,004 653,577 574,004 0 653,577
o ( 0) ( 0)
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(B )
Y= Heke | LEAEmEE L H R %8 HRES mE
B 8 Z Dk
E55|L4E 13,882,369 | 14,722,106 | 13,882,369 ol 14,722,106
ES5(ER) ( 0) ( 0)
E554E 3,772,983 3,251,545 3,772,983 0| 3,251,545
ES5 (N EEER) ( 0) ( 0)
E55|4% 259,350 276,500 259,350 0 276,500
E5 (EEt) ( 0) ( 0)
=g (s 17,914,702 | 18,250,151 | 17,914,702 o| 18,250,151
INEH(EE) ( 0 ( 0
E55L4E 1,944,224 2,061,833 1,944,224 ol 2061833
EFENGER) ( 0) ( 0)
E55LE 528,400 455375 528,400 0 455,375
AR (N EEREET) ( 0) ( 0)
E55L4E 36,324 38,725 36,324 0 38,725
SEEER (EEE) ( 0) ( 0)
INEF GEEEAER) 2,508,948 %,555,933) 2,508,948 ( (; 2,555,933
0 0
ast 20,423,650 | 20,806,084 | 20,423,650 o| 20,806,084
i ( 0) ( 0)
WaXy FH2FE
EE-IA00070: 2T -IEEBHEE)
(B )
®B HEikks | LHEEMmEE Ly HHRES RBE
B w1 Z D1k
E55|4E 4,185,743 4,989,328 4,185,743 0| 4,989,328
E5(EHR) ( 0) ( 0)
ES55lLe 286,440 214,140 286,440 0 214,140
E5 (N EER) ( 0) ( 0)
E55|L4E 241,800 412,433 241,800 0 412,433
E5 (g ( 0) ( 0)
=g (s 4,713,983 5,615,901 4,713,983 ol 5,615,901
INETH(EE) ( 0 ( 0
E55L4E 586,213 698,755 586,213 0 698,755
EFENQER) ( 0) ( 0)
E55L4E 40,117 29,991 40,117 0 29,991
EEEF (N EREE) ( 0) ( 0)
ES554e 33,863 59,165 33,863 0 59,165
SEEEF (IBEE) ( 0) ( 0)
R = 660,193 787,911 660,193 0 787,911
INET GERTERRF) ( 0 ( 0
ast 5,374,176 6,403,812 5,374,176 ol 6,403812
= E ( 0) ( 0)
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(Bfsr:A)
®B HEkke | LHIEmEE L H R %8 HRES BE
EEREES; Z Dk
E55L4E 5,445,908 5,321,185 5,445,908 0| 5,321,185
ES5(ER) ( 0) ( 0)
E554E 1,764,967 1,833,200 1,764,967 0 1,833,200
E5 (&R ( 0) ( 0)
- 7,210,875 7,154,385 7,210,875 0| 7,154,385
INEH(EE) ( 0) ( 0
E55L4E 762,700 745,233 762,700 0 745,233
EFEN GER) ( 0) ( 0)
E55LE 247,190 256,746 247,190 0 256,746
EFEEN (S EERET) ( 0) ( 0)
INEF GREEAER) 1,009,890 2,001,979) 1,009,890 ( c; 1,001,979
0 0
asy 8,220,765 8,156,364 8,220,765 0| 8,156,364
: ( 0) ( 0)
WEXy SH2FE
EE-UNA19999: 3K N B
(B )
® B HHEkes | ZHBmEE L] HXRES BE
B #{E A ZDfh
E55LE 30,954,718 | 32,396,898 | 30,954,718 0| 32,396,898
E5(ER) 0 ( 0) 0 ( 0) 0
E55L4E 1,788,455 1,190,933 1,788,455 o 1,190,933
E 5 (HikE) 0 ( 0) 0 ( 0) 0
E554E 5,824,390 5,298,885 5,824,390 0| 5,298,885
E5 (N EER) 0 ( 0) 0 ( 0) 0
E55|14% 2,451,566 2,994,215 2,451,566 0| 2994215
E5 (EEt) 0 ( 0) 0 ( 0) 0
o 41,019,129 | 41,880,931 | 41,019,129 0| 41,880,931
INEH(EE) 0 ( 0 0 ( 0 0
E55L4E 4,335,208 4537,189 4,335,208 ol 4,537,189
EFENGER) 0 ( 0) 0 ( 0) 0
E55LE 250,472 166,790 250,472 0 166,790
EEEA (HIRE) 0 ( 0) 0 ( 0) 0
E55L4E 815,707 742,112 815,707 0 742,112
EEEA (N EEREET) 0 ( 0) 0 ( 0) 0
ES554e 343,346 420,753 343,346 0 420,753
SEEEF (IBEE) 0 ( 0) 0 ( 0) 0
R = 5,744,733 5,866,844 5,744,733 0| 5,866,844
i\ﬁ(&iwﬁl) 0 ( 0 0 ( 0 0
S N E RS 296,762,881 | 56,321,862 4,997,682 0| 348,087,061
0 ( 0) 0 ( 0) 0
ast 343,526,743 | 104,069,637 | 51,761,544 0| 395,834,836
= 0] ( 0) 0] 0) 0

115



Bie - BUEERRE 1/3
SHM2&481H
{I_j\

M3F3A31AH

B

WXy o2 FE
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(B M)
X 5 giiiRAS | HEEmEE | HERAE HXAES IS
MR GEILIE
[IER s I8 roy = WA 112,287,208 0 0| 112,287,208
BFaESELE
ey - AV 3,447,613 0 0 3,447,613
SNBEESEIE
SNEBELSEIS 147,485,839 6,885,810 3,110,376 | 151,261,273
=t
263,220,660 6,885,810 3,110,376 | 266,996,094
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(Ef1: /M)
X 4 ATHRRTRS | MHEPENAE | MEPRAEE | BRRS S
SNBESEEE
SN\ ZE2568 6,054,074 6,870,398 3,110,376 9,814,096
SNBEESEEE
N+ ZF055192-2 18,096,371 1,814 0| 18,098,185
SNBESEEE
N+ ZF55192-10 712,139 71 0 712,210
SNBESEEE
=4 ET27882 11,479,648 1,151 0| 11,480,799
SNEBESEEE
RN RIM T E174[E] 20,000,000 0 0| 20,000,000
SNEBESEEE
A HEH 5 E176[E] 20,000,000 0 0| 20,000,000
SNEBESEEE
B B AR AT (E427 ] 30,000,000 0 0| 30,000,000
SNBEESEEE
B{£7F4868691086 41,143,607 12,376 0| 41,155,983
K IIRMEEEE
R Z N+ 2568 5,000,000 5,000,000 | 10,000,000 0
K IIREEEEE
=% —¥£2089886 80,000,000 0| 80,000,000 0
F IIRMEEEE
=Z—E{5323[A] 40,000,000 0 0| 40,000,000
T IIREEEEE
= EAEE317ME 30,000,000 0 0| 30,000,000
i IIREEEEE
AMANEM5E167E 30,000,000 0 0| 30,000,000
K IIRMEIE B
A AEE161E 20,000,000 0 0| 20,000,000
i IIREEE B
HEEE161[a] 33,150,000 0 0| 33,150,000
F IIRMEEEE
J\+_%3000055181-005 41,053 0 0 41,053
T IIREEEEE
AA A EE165E 5,000,000 0 0 5,000,000
F IIREMEEEE
= ZAEE165E 50,000,000 0 0| 50,000,000
T IIREEIE &
IB{E—7E 4868691204 0| 80,000,000 0| 80,000,000
T IREEEEE
IB{= 5 F4868691204 0| 20,000,000 0| 20,000,000
=t
440,676,892 | 111,885,810 | 93,110,376 | 459,452,326
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EFEWS (0013 : NERKEZE)
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X & giEiRIRS | HHEAEINAE | HHRAEE HXES mE
ReEREEBEIE
RERTEBILE 332,372,322 15,069,175 40,206,660 | 307,234,837
Fl-l-

332,372,322 15,069,175 40,206,660 | 307,234,837
WSXy SN2 FE
EFEU S (0013 : NERKREZE)

(B 1 M)
X & BRI S | SN | HERAE BEES m =
REREERBIE
B+ 22568 0 93,260,261 40,206,660 53,053,601
BREREEEIE
J\+ -7 032904-1 50,000,000 0 0 50,000,000
BREREEBI®
T.:.i 421161 28,807 359 0 29,166
RERTERBI®
411150923 3,589,334 0 0 3,589,334
it
53,618,141 93,260,620 40,206,660 | 106,672,101
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